
Example : Appliance storehesacepacityofsoiten.scwashers/dryers)
Washers : 2 hrs to unpack# up , sell for $300HareDgrIIjff@IgIIIu.r $200

How many
washers (dryers should we

set up to

mex revenue?

X=# washers
X +YE 50 × > O

y=# dryers
2X -' YE 80 y > O- -
Constraints Nonnegativity



Xtys 50 ha

Xty-50-nsy-so-xco.gg#0-(30120) Zxty-- 80
a d 2×+150×7=80

"

⇒¥
.

2*5-80

. 33--80
(40,0)

N

Revenue = 2- = 300K -1200g←
Objective function



key Fact : Given a linear objective function w/ linear
constraints

, if the objective function hes a
mex/min

,
it must occur at a corner of the

feasible region .
If fusible region bounded , objective function hes mex

and min

lOiO):Z=3oo(o7t2ook# Min
(0,50) : Z = 300(02+200/50)=10000
(40, o) : Z = 300140) +zoo( o) = 12000

(30,207,2--300/307-200120)=9000-4000--13*+1
Max


